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Vhi %Vhi %Vhi %Vhi %Vhi % [k.M ^v* esa nl vfry?kwŸkjh iz'u gSa] ftUgsa gy djuk vfuok;Z gSA
[k.M ^c* esa y?kwŸkjh ç'u ,oa [k.M ^l* esa nh?kZ mŸkjh ç'u gSaA [k.M
^v* dks lcls igys gy djsaA

Note : Section 'A', containing 10 very short-answer-type questions, is compulsory.

Section 'B' consists of short answer type questions and Section 'C' consists of

long answer type  questions. Section 'A' has to be solved first.

Section - 'A'

fuEukafdr vfry?kwŸkjh ç'uksa ds mŸkj ,d ;k nks okD;ksa esa nsaA (Answer

the following very short-answer-type questions in one or two

sentences.)                                                                                  (1x10=10)

ç'u 1- n'keyo la[;k i)fr dk vk/kkj D;k gksrk gS\
What is the base used in decimal number system?

ç'u 2- (12)
10 
dh lerqY;rk f}vk/kkjh la[;k dkSu lh gksxh\

What is the equivalent binary number of (12)
10

?

ç'u 3- A B A B+ =  dk ykWftd ifjiFk cukb,A

Draw the logic circuit for A B A B+ =
ç'u 4- gkWQ ,Mj esa iz;qDr nks fuxZr fdls O;Dr djrs gSa\

What represent the two outputs of half adder?

ç'u 5- T T L dk iw.kZ :i D;k gS\
What is the full form of T T L?
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ç'u 2- fMekxZu izes; dks fy[kdj fl) dhft,A
State and prove De-Morgan's theorem.

OR

dkjukWQ eSi ls vki D;k le>rs gSa\ nks pj jkf'k;ksa ds fy, dkjukWQ eSi
cukus dh fof/k dh lfp= O;k[;k dhft,A
What do you mean by Karnaugh map ? Explain with suitable diagram the

method fo making Karnaugh Map.

ç'u 3- ,d ECLxsV dk ifjiFk vkjs[k [khafp, o bldh dk;Zfof/k dk o.kZu dhft,A
blds xq.kksa (performance) dh rqyuk TTLxsV ls dhft,A
Explain working of ECL gate with suitable circuit diagram. Compare its

performance with TTL gate.

OR

J K f¶yi&¶yki dk ykWftd Mk;xzke cukb, rFkk mldh dk;Ziz.kkyh le>kb;sA
Explain working of J K Flip-Flop with suitable logic diagram.

ç'u 4- A/D duoVZj dh dkmUVj fof/k dh dk;Ziz.kkyh dk lfp= o.kZu dhft,A
Explain working of counter method of A/D converter with suitable diagram.

OR

flfj;y bu iSjsyy vkmV f'k¶V jftLVj dh dk;Ziz.kkyh dh ykWftd
ifjiFk dh lgk;rk ls O;k[;k dhft,A
Explain the working of serial-in-parallel out shift register with suitable

logic circuit.

ç'u 5- eSeksjh ls vki D;k le>rs gSa\ EPROM rFkk PROM dh O;k[;k ,oa rqyuk
dhft,A
What do you understand by memory? Explain and compare EPROM and

PROM.

OR

8085 ekbØksizkslslj dk fiu Mk;xzke cukdj mudh O;k[;k dhft,A
Explain the 8085 microprocessor pin function by making suitable pin diagram.
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ç'u 6- fdl f¶yi&¶ykWi dks nks J-K f¶yi&¶ykWi la;ksx ls cukrs gSa\
What is the name of Flip-Flop which is constructed with two J-K Flip-Flop?

ç'u 7- fdl eSeksjh ds vo;oksa dks bjst djus ds fy, ijkcSaxuh fofdj.k dks iz;qDr
fd;k tkrk gS\
Name the memory whose contents are erased by  using ultraviolet radiation.

ç'u 8- fdlh jftLVj esa MkVk VªkalQj djus dh nks fof/k;ksa ds uke fyf[k,A
Write the name of two methods used for data transfer in any register.

ç'u 9- fMftVy dE;wfuds'ku iz.kkyh esa ,ukykWx bysfDVªdy flxuy dks fMftVy
flxuy esa ifjofrZr djus gsrq dkSu lk duoVZj iz;qDr djrs gSa\
Which converter is used for converting the analog electrical signal into digital

signal in digital communication system?

ç'u 10- 8085 ekbØksizkslslj esa 8 - fcV MkVk LVksj djus gsrq iz;qDr N% tujy&ijit
jftLVlZ ds uke fyf[k,A
Name the Six general purpose registers for storing 8 - bit data in 8085

microprocessor.

Section - 'B'

fuEukafdr y?kq mŸkjh; ç'uksa ds mŸkj 150&200 'kCn lhek esa nsaA(Answer the

following short-answer-type questions with word limit 150-200(3x5=15)

ç'u 1- Mslhey la[;k +83 dks Mslhey la[;k  +16 esa 2's dkWEIyhesUV fof/k ls tksfM+,A
Add decimal number +83 into decimal number +16 by using 2' s complement method.

OR

B C D dksM rFkk xzs dksM esa eq[; varj fyf[k,A
Write the basic difference between B C D code and gray code.

ç'u 2- O;atd Y=( A B+ ) (A+B) dk ykWftd ifjiFk cukb, rFkk lehdj.k dks ljy

dhft,A

Draw the logic circuit for Y=(

A B+

) (A+B) and simplify the equation.

OR

Qqy ,Mj ls vki D;k le>rs gSa\ rhu fcV ds ;ksx gsrq iz;qDr Qqy ,Mj dh
lR;rk lkj.kh lfgr lfp= O;k[;k dhft,A
What do you understand by full adder? Draw the circuit diagram and truth

table to explain the full adder for addition of 3-bits.

ç'u 3- ,d 2- buiqV RTL NOR xsV dk ifjiFk cukdj dk;Ziz.kkyh le>kb;sA
Explain the working of two-input RTL NOR gate with suitable circuit

diagram.

OR

/kukRed ,oa _.kkRed ,t fVªxMZ f¶yi&¶ykWi esa varj Li"V dhft,A
Write the basic difference between positive and negative edge-triggered

Flip-Flop.

ç'u 4- f'k¶V jftLVj D;k gS rFkk budk D;k mi;ksx gS\
What is shift register and what are its uses?

OR

fjax dkmaVj ij laf{kIr fVIi.kh fyf[k,A
Write short notes on ring counter.

ç'u 5- oksysVkby ,oa ukWuoksysVkby eseksjh esa varj Li"V dhft,A
Write the difference between volatile and Non-volatile memories.

OR

8085 ekbØksizkslslj ds fuEukafdr ykWftd flxuy dk QaD'ku fyf[k,A
Write the function of following logic signals of 8085 microprocessors.

ALE, READY,  HOLD

Section - 'C'

fuEukafdr nh?kZ mŸkjh; ç'uksa ds mŸkj 300&350 'kCn lhek esa nsaA
(Answer the following long-answer-type questions with

word limit 300-350) (5x5=25)

ç'u 1- ykWftd xsV dks lR;rk lkj.kh rFkk ifjiFk ds lkFk le>kb;sA
Explain logic gates with diagram and truth-table

OR

;wfuolZy fcfYMax CykDl ls D;k vk'k; gS\ ykWftd ifjiFk ,oa lR;rk
lkj.kh lfgr bldh O;k[;k dhft,A
What do you mean by Universal Building Blocks? Explain it with the

help of suitable logic circuit and truth table.
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